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  1 (102) tpahghu fzpjKk; Gs;sptpgutpaYk; 102/BMS 
 

 
 
 
 
 
 
 
 
 
 

(nkhj;jk; 40 Gs;spfs;) 

 
tpdh 01 w;fhd gupe;Jiuf;fg;gl;l tpilfs;  : 
1.1 (2) 

 9x + 4  = 3x + 34 
 6x  = 30 
 x  = 30/6 
             x            =  5                       

 (03 Gs;spfs;) 

1.2 (3) 

         ePu;f;Foha; A vLj;Jf;nfhz;l Neuk;  = 180 kzpj;jpahyk;  

         ePu;f;Foha; B vLj;Jf;nfhz;l Neuk;   = 180 ×
1

6
 kzpj;jpahyk; =30 kzpj;jpahyk;  

 (03 Gs;spfs;)  

1.3       (1)      
  S = X(1 + r)n  X = 50 000,  r = 6% =0.06, n = 10 
 
  S = 50 000 ×(1.06)10 

  S = 89,542 

           mtsJ fzf;fpy; ,Uf;ff;$ba nkhj;j ngWkjp &gh. 89,542 
                                                              (03 Gs;spfs; ) 

1.4      (1) 
 C  – fzdp itj;jpUg;gjw;fhdJ 

M – ifalf;f njhiyNgrp       
         itj;jpUg;gjw;fhdJ 

 
 

 
 
  

   
khztd; xUtd; ifalf;fj;njhiyNgrp itj;jpUg;gjw;fhd vOkhwhf jug;gLkplj;J  

me;j khztd;; tPl;by; fzdpnahd;iw itj;jpUg;gjw;fhd epfo;jfthdJ  
140

350
 = 

2

5
  

MFk;. 
(03 Gs;spfs;) 

  ,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk; I guPl;ir – [{iy 2021 

(102) tpahghuf; fzpjKk; Gs;sptpgutpaYk; (BMS) 
 

gupe;Jiuf;fg;gl;l tpilfs; 
 
 

 

 

 

 gFjp - A 

350 

420 

210 

70 210 140 

0 
 

C M 
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1.5  (2) 
 

1, 4, 5, 8, 10, 16, 18, 18, 19, 19, 19, 25  

,ilak;  = 
𝑛+1

2
   

,ilak;  = 
12+1

2
   

,ilak;  = 6.5  

,ilak;  = 
16+18

2
  

,ilak;  = 17 

 (03 Gs;spfs;)  
1.6 (3) 

tpiyr;rhu;G 

 𝑃 =
𝑃1

𝑃0
× 100 

𝑃 =
10

12
× 100 = 83% 

 (03 Gs;spfs;) 
1.7        (4) 

𝑃(𝐴 ∩ 𝐵) = 𝑃(𝐴) + 𝑃(𝐵) − 𝑃(𝐴 ∪ 𝐵) 

𝑃(𝐴 ∩ 𝐵) = 0.30 + 0.50 − 0.70  

𝑃(𝐴 ∩ 𝐵) = 0.10 

𝑃(𝐴 ∩ 𝐵)′ = 1 − 𝑃(𝐴 ∩ 𝐵) 

𝑃(𝐴 ∩ 𝐵)′ = 1 − 0.1  

𝑃(𝐴 ∩ 𝐵)′ = 0.9 
                                                  (03 Gs;spfs;) 

1.8 (3) 
                        X = 6000,   r = 0.075,   n = 8 

 

 

 
 

 

    𝐹𝑉 =  67,379    mjp fpl;ba rupahd gzk; 

                        𝐹𝑉 ≈ 67,381   

 (03 Gs;spfs;) 
1.9    (1) 

gUtk; gUtfhyr;Rl;b Nghf;F ngWkhdk; vjpu;T$wg;gLk; 
tpw;gidfs; 

Q1 1.4 12,500.00         17,500.00  

Q2 1.2 12,000.00         14,400.00  

Q3 0.6 10,750.00           6,450.00  

Q4 0.8 9,600.00           7,680.00  

 (03 Gs;spfs;) 
 
 

 𝐹𝑉 =
𝑥(1+𝑟)⌊(1+𝑟)𝑛−1⌋

𝑟
  

 𝐹𝑉 =
6000×1.075×⌊1.0758−1⌋

0.075
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1.10   (2) 
  

𝑷𝑽 = 𝑿(𝟏 − (𝟏 + 𝒓)−𝒏)

𝒓
 

 

PV= 500,000, n = 3,  r = 0.075   
500,000 = 𝑋(1 − 1.08−3)

0.08
 

 

500,000 × 0.08

(1 − 1.08−4)
 

= 𝑥  

𝑥 = 194,017 mjp fpl;ba rupahd 
ngWkjp 

𝒙 ≈ 𝟏𝟗𝟒, 𝟎𝟐𝟒  

                                                               (03 Gs;spfs;) 

1.11  
 A    (2) 
 B    (4) 
 C    (1) 
 D    (3) 

  (01 Gs;sp tPjk; , 04 Gs;spfs;) 

1.12  
1,170 × 100 = Rs.900/- 

130     
                                                                                                                                   (02 Gs;spfs;)        

1.13   
     𝑇𝑛  =  𝑎𝑟𝑛−1  a = 1, r = 3, n = 8 
     𝑇8  =  1 × 37  
     𝑇8  =  2,187 

                                                                                                                         (02 Gs;spfs;) 
1.14  
    $w;W rupahdJ 

 (01 Gs;spfs;) 
1.15  
   $w;W rupahdJ 

              (01 Gs;spfs;) 

(nkhj;jk; 40 Gs;spfs;) 
 

  

gFjp  A  Kw;Wk; 
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 (nkhj;jk; 40 Gs;spfs;)  

tpdh 02 w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 

 mj;jpahak; 01 – fzpjj;jpd; mbg;gil vz;zf;fU 
(a)   
Kiwik  01 
    3 – 5x    ≤    −12 
    3 + 12    ≤     5x 
 15        ≤     5x 
 3          ≤     x or     x ≥ 3 
Kiwik  02 
    3 – 5x    ≤    −12 
                                       - 5x         ≤    −12 - 3 

               
−5𝑥

−5
       ≥   

−15

−5
 

      x     ≥    3 
                                                                                                              (02 Gs;spfs;) 

(b)     

mj;jpahak; 01 – fzpjj;jpd; mbg;gil vz;zf;fU 

2𝑎 + 5𝑏  =  13          1 

3𝑎 − 2𝑏   =  10          2 

1  x 2       4 𝑎 + 10b   = 26        3 

2  x 5       15 𝑎 – 10b = 50        4 

          4   -   3                 19 𝑎 = 50 +26 

                                           𝒂 = 𝟒 

         1         8 + 5b   = 13 

                           5b  =  5 

                             b  =   1 

(04 Gs;spfs;) 
(c)    

mj;jpahak; 04 – juT toq;fYk; tpsf;f mstPLk; 

 
(04Gs;spfs;) 

 (nkhj;jk;l 10Gs;spfs;) 
 

nghUs; 
myF 

vz;zpf;if 
rhu;G 

A 180 
180

   360
× 360 = 1800 

B 90 
90

360
× 360 = 900 

C 45 
45

360
× 360 = 450 

D 45 
45

360
× 360 = 450 

nkhj;jk; 360 3600 

gFjp - B 
 

180 

90 

45 

45 

nghUs; tpw;gid 

A B C D
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tpdh 03 w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 
mj;jpahak; 03 -tzpfj;jpd; epjprhu; nraw;ghl;L mstPLfs; 

(a)  
Fwpg;G : ,t;tpdhtpy; khWk; nryT vjpu;kiwahFk;. mJ jtwhFk;  
 

TC =FC + VC 

TC = 200 - 60q - q
2
  

 
𝑇𝑅 = 𝑝 × 𝑞    p =40 – q 

𝑇𝑅 = (40 –  q) × q 

 

𝑻𝑹 = 𝟒𝟎𝐪 – 𝐪𝟐   
                                                                                                              (04 Gs;spfs;) 

(b)         
TP = TR – TC 

𝑇𝑃 = 40q – q2 − (200 −  60q −  q2) 

𝑻𝑷 = 𝟏𝟎𝟎𝐪 − 𝟐𝟎𝟎  
(02 Gs;spfs;)  

(c)          
,yhg-el;lkw;w (rkepiy) Gs;spapd; NghJ        
                TR = TC 

    40q – q2 =   200 −  60q −  q2     
          100q =   200 
     q =   2 
,yhg- el;lkw;w fzpak; (rkepiy Gs;spapy;) = 2,000 myFfs; 
my;yJ 
G+r;rpa Gs;sp ,yhgj;jpy; 
  0      =  100q -200 
100q =  200 
       q =  2 

  (04 Gs;spfs;)) 
(nkhj;jk;l 10Gs;spfs;) 

 
tpdh 04 w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 

mj;jpahak; 05 - ,uz;L mstPl;L khwpfis xg;gpLjy; 
(a)         

∑ X =64  ,   ∑ Y =59  ,   ∑ XY =552,   ∑ X2 =580,   n = 8                                              

x y X2 xy 
3 3 9 9 

6 2 12 36 

8 5 40 64 

5 7 35 25 

9 6 54 81 

10 9 90 100 

11 12 132 121 

12 15 180 144 

64 59 552 580 
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    b  =  
n ∑ XY −  ∑ X .∑ Y

(n ∑ X2 −  (∑ X)2)
 

    b  = 
(8 X 552) –(64 X 59)

(8 X 580) −(642)
 

     b  = 
4,416 – 3,776

4,640 −4,096
 

     b  =  
640

544
 

     b =  1.1765 

     a   =    𝑌̅ − 𝑏𝑋̅ 

      a   =    
59

8
− [1.1765 ×

64

8
] 

      a    =    7.375 – 1.176 × 8 

      a    =    -2.033 

     ,opT tu;f;f njhlu;G NfhL MdJ 

      𝑌 = 𝑎 +  𝑏𝑥 

      𝒀 =  −𝟐. 𝟎𝟑𝟑 +  𝟏. 𝟏𝟕𝟔𝒙   

 

                                                                                                 (07 Gs;spfs;) 

(b)   

Y           = -2.033 + 1.176x 

8           = -2.033 + 1.176x 

1.176x = 8 + 2.033 

1.176x = 10.033 

 

X = 8.53 or x = 9 

 (03 Gs;spfs;) 

(nkhj;jk;l 10 Gs;spfs;) 
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tpdh 05 w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 

mj;jpahak; 04 – juT toq;fYk; tpsf;f mstPLk; 

 (a) 

Neuk; 𝒇 𝒙 x2 Fx2 𝒇𝒙 

10 – 19 25 14.5 210.25 5,256.25 362.50 

20 – 29 18 24.5 600.25 10,804.50 441 

30 - 39 30 34.5 1,190.25 35,707.50 1,035 

40 – 49 17 44.5 1,980.25 33,664.25 756.50 

50 – 59 6 54.5 2,970.25 17,821.50 327 

60 - 69 4 64.5 4,160.25 16,641.50 258 

 100  11,111.50 119,895 3,180 

(a) Mfhuk; 

Mfhu tFg;G -  30-39 

L1 = 29.5, ∆1= 30 − 18 = 12 C = 10 

                          ∆2 = 30 − 17 = 13 

Mo 
 

= 
Li + [

∆1

∆1 + ∆2
] × C 

Mo 
= 

29.5 + [
12

12 + 13
] × 10 

Mo = 29.5 + 4.8 

Mo = 𝟑𝟒. 𝟑 
                                                       (03 Gs;spfs;) 

 (b) 
∑ f X = 3180 ∑ f X2 = 119 895   ∑ f =100 
 
 ,il       =      ∑ fX 
                   ∑ f 
      =     3180 
              100 
      =    31.80  

 (03 Gs;spfs;) 
(c)                                                                                                                  

epiyahd tpyfy; = √
∑ 𝑓𝑥2

∑ 𝑓
−  [

∑ 𝑓𝑥

∑ 𝑓
]

2

        

epiyahd tpyfy; = √
119 895

100
−  [

3180

100
]

2

        

          =   13.70 

 (04 Gs;spfs;) 
(nkhj;jk;l 10Gs;spfs;)              

  
gFjp B Kw;Wk; 
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(nkhj;jk; 20Gs;spfs;) 

tpdh 06 w;fhd gupe;Jiuf;fg;gl;l tpilfs; : 
(A)  

mj;jpahak; 02 - tzpfj;jpw;fhd epjpf;fzpjk; 
(a)    

S = x(1 + ar)n  X = 300,000,    r = 8% =0.08,    t = 3 
 
  S = 300,000 (1 + 3 × 0.08) 

  S = 300,000 + 72,000 
                          S = 372,000 

  (02 Gs;spfs;) 
 

(b)     

𝑆 = 𝑋(1 + 𝑟)𝑛  X = 300,000,  r = 12/4% =0.03, n = 3×4 =12 
 
 𝑆 = 300 000 × (1 + 0.03)12 
 S = 300,000 × 1.426 
             S = 427,800 

                                      (02 Gs;spfs;) 
(B) 

mj;jpahak; 02 - tzpfj;jpw;fhd epjpf;fzpjk; 
(a)    

 0 1 2 3 
KjyPL (500,000)    
epfu fhR gha;r;ry; - 250,000 375,000 50,000 

 (500,000) 250,000 375,000 50,000 

10% 1 0.909 0.826 0.751 
foptPl;L fhuzp (500,000) 227,250 309,750 37,550 

NPV = 74,550     
 

  (04 Gs;spfs;) 
(b)  

   KjyPL       NPV 

  A  74,550 

  B  80,400 

,q;F epfu ,w;iw ngWkjpahdJ KjyPL  B  MdJ ngupaJ KjyPL A tplTk; 

Mifahy; KjyPL  B MdJ ,yhgfukhdJ.  

                                      (02 Gs;spfs;) 
 
 
 
 
 
 

gFjp - C 
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 (C) 
mj;jpahak; 06 - epfo;jfTk; mjd; fzpg;gPLfSk; 
(a)    

 
 
 
 
 
 
 
 
 
 

      E(X)  =   ∑ X×P 
               =  1.82 

(03 Gs;spfs;) 
(b)   
 X : Xl;lj;Jf;F vLj;Jf;nfhz;l Neuk; (kzp) 
 µ=240  σ =40 

        𝑍 =
X  −  µ

σ 
                                    

 

𝑍 =
X  −  177

6.4
     

X=166,  𝑍 =
166  −  177

6.4
= −1.72     

 

X=185,  𝑍 =
185  −  177

6.4
= +1.25     

 
 0.4573    0.3944  

  

     0.4332   

                  0.4573 0.5 

 

                

 

                                                                                               x     

   X                          166        177      185  

    Z         - 1.72         0       +1.25 

 
    Pr(166 < X < 185)  = 0.4573 + 0.3944 
                                       = 0.8517 or 85.17% 
 

vOkhwhf njupTnra;ag;gl;l kdpjdpd; XUtdpd caukhdJ  166cm kw;Wk;  185cm 
,ilapy; fhzg;gLk; (185CM =85.17%.) 

 (03 Gs;spfs;) 

x p xp 

-1 0.32 -0.32 

0 0.01 0.00 

1 0.02 0.02 

2 0.04 0.08 

3 0.40 1.20 

4 0.21 0.84 

  
1.82 
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(D)       
mj;jpahak; 07 - tpiyr;Rl;nlz; kw;Wk; vjpu;T $wYk;   
 

tif q1 q1 q0 q1 P1 q0p1 

x 100 15 70 1,500 1,050 

y 250 40 280 10,000 11,200 

Z 130 60 90 7,800 5,400 

       19,300 17,650 

                         

,yh];ngahupd; fzpar; Rl;nlz;   =
∑ 𝑃0𝑞1

∑ 𝑃0𝑞0 
× 100%

 

                                                  =
19,300

17,650
 × 100% 

                   = 109% 

(04 Gs;spfs;) 

(nkhj;jk; 20 Gs;spfs;)              
  

gFjp C Kw;Wk; 
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Notice:  
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designed 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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